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1503 | ARELT iR 9 9
1605 |[E{EEE g 8 8
1708 _|PoTiA 4 (s 2 2
1308 |[REE SR =5 13 4 1 1 1 1
1005 |, THHit =H{E 10 3 1 1 1
1209 | )i e © = 10 3 1 1 1
1412 |{A] 575 =T 10 3 1 1 1
1102 | i fH BHE 9 3 1 1 1
1006 | HEER HE 8 2 1 1
1404 |PEE5E =5 8 2 1 1
1506 [JEZ=IS 203 8 2 1 1
1608 |FHEES e 8 2 1 1
1010 |FRCIER =t 7 2 1 1
1803 | REFE =E 7 2 1 1
1105 |TRE&HR =E 6 1 1
1106 |PBAHE(3E =T 6 1 1
1107 | = BIE 110 6 1 1
1306 |ZHE = 6 1 1
1312 |B452E 108 6 1 1
1403 |fifHE ! 6 1 1
1400 |EEH 27 =5 6 1 1
1602 | B3 HE 6 1 1
1206 | ALEEE S 5 1 1
1015 |Z5{FE4O 212 4 1 1
1101 | JyEgEE 102 4 1 1
1111 | e Pl KIERIA 4 0
1701 |FNFFEE 112 4 0
1707 |B[HEZS = 4 0
1007 | RS =t 3 0
1104 |TEFEF 205 3 0
1109 |FE I 101 3 0
1204 [FRE A0 109 3 0
1205 |GfSHEE FE 3 0
1309 | &G 202 3 0
1804 | PRREELH =5 3 0
1805 |FEL(S 208 3 0
1807 |3t 2 HH = 3 0
1208 |FPEH HE 2 0
1212 MK % =T 2 0
1402 [REEO =T 2 0
1414 [EFRISE 105 2 0
1603 |P i © HE 1 0
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